Multiply and Divide by 1000 (I)

Find each product or quotient.

1.11 + 1,000 = 7.016 - 1,000 =
6.4075 x 1,000 = 3.0154 = 1,000 =
7.677 - 1,000 = 2.3+1,000=
0.799 x 1,000 = 8.2358 + 1,000 =
4.0472 x 1,000 = 0.7 +-1,000 =
9.459 - 1,000 = 3.505 % 1,000 =
6.3261 = 1,000 = 0.8192 =+ 1,000 =
5.803 + 1,000 = 2.738 =~ 1,000 =
8.65 + 1,000 = 2.67 + 1,000 =
4.09 x 1,000 = 1.35+ 1,000 =
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Multiply and Divide by 1000 (I) Answers

Find each product or quotient.

1.11+ 1,000 =0.00111

6.4075 x 1,000 = 6,407.5

7.677 + 1,000 =0.007677

0.799 x 1,000 = 799

4.0472 x 1,000 = 4,047.2

9.459 = 1,000 = 0.009459

6.3261 + 1,000 = 0.0063261

5.803 =+ 1,000 =0.005803

8.65 + 1,000 = 0.00865

4.09 x 1,000 = 4,090

7.016 =~ 1,000 = 0.007016

3.0154 -+ 1,000 = 0.0030154

2.3 +1,000=0.0023

8.2358 = 1,000 = 0.0082358

0.7 +1,000 =0.0007

3.505 x 1,000 = 3,505

0.8192 =+ 1,000 = 0.0008192

2.738 + 1,000 =0.002738

2.67 = 1,000 = 0.00267

1.35+ 1,000 = 0.00135
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